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Gaussian Elimination
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A System s consistent f tuere c solution .
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where each column corresponds to the coefficients

of X, ¥, and 2 to)lowed f)y what eqch eguation is
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But how do we Solve these Svskms with uu@man&&

Vna‘¥r1'ces?. (;mru Ssian \‘;thmaJﬂon

Goal of this methed, :s__[\ ¥ 4k

Yo obtain o matniy of Ol Xl (5%
the Parm, ; OHOBIit]] |
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Now we need to Wnow what are The valid operations to
@ 0« this happen, These are referred to as' the e lementwy
0w oper‘aﬁoné.
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Exam-,ola Y Use Gaussian Elimination to <olve the
syskm of equetlons.
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Firsy rewrite the Svstem as an ac\c?menkd? matrisx,

Then apply the Gau'ssian  Elimination,
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Henee The soludion is (5,1 -1).
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First rewnle  Hee svsk;m as an auqmenkd meatrix, Then
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